MAC 2311 Learning Activity #2

Computing Limits

Names:

1. Given lim f(x) = 3, lim g(z) = —2, lim h(z) = 7, compute the following:
r—1 z—1 z—1

() lim(f(z) + 9(x))

(b) lim(g(x) — h(z))

r—1

(¢) lim(f(z) - h(z))

rz—1

(d) lim(3f())*

r—1

o 1 (i)

2. Consider the piecewise-defined function

0 T < =5
flx) = {\/25—.%2 -5 <x <4

5% trx >4

Determine the following limits:

(2) lim f(z) (d) lim f(z)
(b) lim f(z) (¢) lim f(x)
(c) lim_f(z) (f) lim f(x)
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3. lim (22 — 8)'/3

z—0

4l x?—3r—4
o lim —m——
e——1722+2x — 3

2 _ _
5 lim 2 Tr — 15
r—5 € — 5
—1
6. lim —
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7. lim
r——1 T + 1

9. lim
z—T  COST

2+8-3

1 —sin“zx
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